Chapter 17 Accounting for Taxation

Answer – Exercise 1
In this case, the temporary differences of XYZ Ltd as at 31 December 2011 may be computed as follows:

	
	Carrying amount
	Tax base
	Temporary differences

	
	$000
	$000
	$000

	Machinery
	40,000
	35,000
	5,000

	Provision for doubtful debt
	(2,000)
	-
	(2,000)

	Provision for warranty
	(1,000)
	-
	(1,000)

	Net taxable temporary differences
	
	
	2,000


Assuming a tax rate of 25%, the deferred tax liability for XYZ Ltd as at 31 December 2011 is $500,000 ($2,000,000 x 25%). The journal entry (ignoring tax payable account) to recognize the deferred tax liability will be as follows:

	
	Dr. ($)
	Cr. ($)

	Tax expense (I/S)
	500,000
	

	Deferred tax liability
	
	500,000


Examination Style Questions
Answer 1
(a)
	
	Carrying amount
	Tax base
	Temporary difference

	
	$000
	$000
	$000

	Property, plant and equipment
	460
	270
	190

	Development expenditure
	60
	-
	60

	Interest receivable (55 – 45)
	10
	-
	10

	Provision
	(40)
	-
	(40)

	
	
	
	220


(b)

Notes to the statement of financial position

	Deferred tax liability
	$000

	Accelerated depreciation for tax purposes [(190 – 90) x 30%]
	30

	Product development costs deducted from taxable profit (60 x 30%)
	18

	Interest income taxable when received (10 x 30%)
	3

	Provision for environmental costs deductible when paid (40 x 30%)
	(12)

	Revaluations (90 x 30%)
	27

	
	66


	
	$000

	At 1 January 20X4 [(310 – 230) x 30%]
	24

	Amount charged to income statement (bal. fig.)
	15

	Amount charged to equity (90 x 30%)
	27

	At 31 December 20X4 (220 x 30%)
	66


Notes to the income statement

	Income tax expense
	$000

	Current tax
	45

	Deferred tax
	15

	
	60


Answer 2
(a)

HKAS 12 Income taxes prescribes the accounting treatment for income taxes including the recognition of deferred tax assets and liabilities. These assets and liabilities arise due to temporary differences between the tax base of an asset or liability and its carrying amount in the statement of financial position. The tax base of an asset or liability is the amount attributed to that asset or liability for tax purposes. Temporary differences may be either taxable or deductible.
Taxable temporary differences will result in taxable amounts in determining taxable profit (loss) of future periods when the carrying amount of the asset or liability is recovered or settled.
Deductible temporary differences will result in amounts that are deductible in determining taxable profit (tax loss) of future periods when the carrying amount of the asset is recovered or settled.
HKAS 12 identifies the main categories in which temporary differences can occur, which include the following:
(i)
Interest revenue is included in accounting profit on a time proportion basis but may, in some jurisdictions, be included in taxable profit when cash is collected. The tax base of any receivable recognised in the statement of financial position with respect to such revenues is nil because the revenues do not affect taxable profit until cash is collected;

(ii)
Depreciation used in determining taxable profit (tax loss) may differ from that used in determining accounting profit. The temporary difference is the difference between the carrying amount of the asset and its tax base which is the original cost of the asset less all deductions in respect of that asset permitted by the taxation authorities in determining taxable profit of the current and prior periods. A taxable temporary difference arises, and results in a deferred tax liability, when tax depreciation is accelerated (if tax depreciation is less rapid than accounting depreciation, a deductible temporary difference arises, and results in a deferred tax asset);

(iii)
Development costs may be capitalised and amortised over future periods in determining accounting profit but deducted in determining taxable profit in the period in which they are incurred. Such development costs have a tax base of nil as they have already been deducted from taxable profit. The temporary difference is the difference between the carrying amount of the development costs and their tax base of nil.

(iv)
Retirement benefit costs may be deducted in determining accounting profit as service is provided by the employees, but deducted in determining taxable profit either when contributions are paid to a fund by the entity or when retirement benefits are paid by the entity. A temporary difference exists between the carrying amount of the liability and its tax base; the tax base of the liability is usually nil. Such a deductible temporary difference results in a deferred tax asset as economic benefits will flow to the entity in the form of a deduction from taxable profits when contributions or retirement benefits are paid.

(v)
Research costs are recognised as an expense in determining accounting profit in the period in which they are incurred but may not be permitted as a deduction in determining taxable profit (tax loss) until a later period. The difference between the tax base of the research costs, being the amount the taxation authorities will permit as a deduction in future periods, and the carrying amount of nil is a deductible temporary difference that results in a deferred tax asset;

(vi)
Certain assets may be carried at fair value, or may be revalued, without an equivalent adjustment being made for tax purposes. A deductible temporary difference arises if the tax base of the asset exceeds its carrying amount.
(b)

G Co

	Timing difference at 31 March 20X3:
	$000

	Timing difference b/f at 1 April 20X2
	100

	Arising in year (100 – 90)
	10

	
	110


Deferred tax liability will be $110,000 x 30% = $33,000

This figure will be included in the statement of financial position.

The decrease in the provision of ($35,000 – $33,000) = $2,000 will reduce the tax charge for the year.

Answer 3
(a)

Principles of deferred tax

In many countries different rules are used for calculating accounting profit (as used by investors) and taxable profit. This can give rise to temporary differences.
Temporary differences arise when income or expenditure is recognised in the financial statements in one year, but is charged or allowed for tax in another. Deferred tax needs to be provided for on these items.
The most important temporary difference is that between depreciation charged in the financial statements and capital allowances in the tax computation. In practice capital allowances tend to be higher than depreciation charges, resulting in accounting profits being higher than taxable profits. This means that the actual tax charge (known as current tax) is too low in comparison with accounting profits. However, these differences even out over the life of an asset, and so at some point in the future the accounting profits will be lower than the taxable profits, resulting in a relatively high current tax charge.
These differences are misleading for investors who value companies on the basis of their post tax profits (by using EPS for example). Deferred tax adjusts the reported tax expense for these differences. As a result the reported tax expense (the current tax for the period plus the deferred tax) will be comparable to the reported profits, and in the statement of financial position a provision is built up for the expected increase in the tax charge in the future.
There are many ways that deferred tax could be calculated. HKAS 12 states that the liability method should be used. This provides for the tax on the difference between the carrying value of an asset (or liability) and its tax base. The tax base is the value given to an asset (or liability) for tax purposes. The deferred tax charge (or credit) in the income statement is the increase (or decrease) in the provision reported in the statement of financial position.
(b)
The provision for deferred tax in Bowtock's statement of financial position at 30 September 20X3 will be the potential tax on the difference between the accounting carrying value of $1,400,000 and the tax base of $768,000. The difference is $632,000 and the tax on the difference is $158,000.
The charge (or credit) for deferred tax in profit or loss is the increase (or decrease) in the provision during the year. The closing provision of $158,000 is less than the opening provision of $160,000, so there is a credit for $2,000 in respect of this year.
Movement in the provision for deferred tax for the year-ending 30 September 20X3
	
	$

	Opening provision
	160,000

	Credit released to the income statement
	(2,000)

	Closing provision
	158,000


Workings:

	
	Carrying value
	Tax base
	Difference
	Tax @ 25%

	Yr. 09/X1
	$
	$
	$
	$

	Purchase
	2,000,000
	2,000,000
	
	

	Depreciation
	(200,000) W1
	(800,000) W2
	
	

	Balance
	1,800,000
	1,200,000
	600,000
	150,000

	Yr. 09/X2
	
	
	
	

	Depreciation
	(200,000)
	(240,000) W3
	
	

	Balance
	1,600,000
	960,000
	640,000
	160,000

	Yr. 09/X3
	
	
	
	

	Depreciation
	(200,000)
	(192,000) W4
	
	

	Balance
	1,400,000
	768,000
	632,000
	158,000


(W1) $2,000,000 cost – $400,000 residual value over 8 years

(W2) $2,000,000 x 40% = $800,000
(W3) $1,200,000 x 20% = $240,000

(W4) $960,000 x 20% = $192,000

Answer 4

	Statement of financial position at 31 March 2004
	

	Deferred tax
	$22,500

	Statement of financial position at 31 March 2005
	

	Deferred tax
	$16,875

	Income statement for the year ended 31 March 2005
	

	Income tax expense – reduction in deferred tax
	$5,625 credit


Workings:

	Tax depreciation
	$

	Purchase cost 1 April 2003
	250,000

	First year allowance at 50%
	(125,000)

	
	125,000

	Tax depreciation second year at 25%
	(31,250)

	Tax written down value
	93,750

	
	

	Accounting depreciation
	

	Purchase cost 1 April 2003
	250,000

	Straight line depreciation at 20%
	(50,000)

	
	200,000

	Straight line depreciation at 20%
	(50,000)

	
	150,000


	
	At 31 March 2004
	At 31 March 2005

	
	$
	$

	Accounting book value
	200,000
	150,000

	Tax written down value
	125,000
	93,750

	
	75,000
	56,250

	Tax at 30% = 
	22,500
	16,875


Change in deferred tax liability = 22,500 – 16,875 = 5,625 (decrease)

Answer 5

Accounting depreciation = cost – residual value = $900,000 – $50,000 = $850,000

$850,000 / 5 = $170,000 per year

	
	
	2004/5

	Accounting figures
	
	$

	
	Cost
	900,000

	
	Depreciation (2 years)
	(340,000)

	
	Carrying value
	560,000

	Tax base
	
	

	
	Cost
	900,000

	
	First year allowance 50%
	450,000

	
	
	450,000

	
	October 2005 25%
	112,500

	
	Tax base
	337,500

	Temporary difference
	
	

	
	
	2004/05

	
	Carrying amount
	560,000

	
	Tax base
	337,500

	
	
	222,500

	Deferred tax liability
	Tax = 222,500 x 30%
	66,750


Answer 6

	
	Accounting depreciation
	Tax depreciation
	Difference

	
	$
	$
	$

	Cost
	20,000
	20,000
	

	Less: depreciation b/f
	5,000
	12,500
	

	
	15,000
	7,500
	

	2003
	1,630
	2,210
	

	2004
	1,590
	1,860
	

	2005
	1,530
	1,320
	

	Net written down value at 31 Dec. 2005
	10,250
	2,200
	8,050

	Deferred tax liability at 25%
	
	
	2,013


Answer 7

	Income statement – income tax
	$

	Deferred tax increase (759,000 – 642,000)
	117,000

	Charge for year (946,000 x 22%)
	208,120

	Overprovision from previous year
	(31,000)

	
	294,120


Answer 8

	Deferred tax balance:
	$000

	Accounting depreciation:
	

	Cost
	400

	Depreciation to September 2006
	100

	
	300

	Depreciation to September 2007
	75

	
	225

	Tax allowances:
	

	Allowance to September 2006
	400


Temporary difference at September 2007 is 400,000 – 175,000 = 225,000

Deferred tax provision is 225,000 @ 22% = 49,500
Answer 9

(a)
Recognition of the machine at the carrying amount implies that the reporting entity expects that the taxable operating income associated with the machine would be at least equal to the carrying amount. The depreciation of the machine implies that the entity expects to recover the carrying amount of the machine through use in futures periods to generate taxable income. Since the amount of the machine deductible for tax purposes is lower than the carrying amount of the machine by HK$100,000, a taxable amount of HK$100,000 will be resulted in the future period when the carrying amount of the machine is recovered. Therefore, there is a taxable temporary difference of HK$100,000 associated with the machine.
(b)

Since the amount of the machine deductible for tax purposes is higher than the carrying amount of the machine by HK$200,000, a deductible amount of HK$200,000 will be resulted in the future period when the carrying amount of the machine is recovered. Therefore, there is a deductible temporary difference of HK$200,000 associated with the machine.
Answer 10

(a)

(1)
When the interest payable is settled in the future periods, a deductible amount of HK$100,000 will be resulted in determining taxable profit (tax loss) of future periods. Therefore, a deductible temporary difference of HK$100,000 is associated with the interest payable.
(2)
If the foreign currency loan payable is settled in the future periods at HK$900,000, a taxable amount of HK$100,000 will be resulted in determining taxable profit (tax loss) of future periods. Therefore, a taxable temporary difference of HK$100,000 is associated with the foreign currency loan payable.
(3)
Strictly speaking, neither a taxable amount nor a deductible amount will be resulted in determining taxable profit (tax loss) of future periods when the interest received in advance is settled, that is, when it is recognised as interest revenue, since the interest has been taxed when the interest was received.
However, “revenue received in advance” is dealt with specially by HKAS 12, which requires that a deductible temporary difference shall be assigned to revenue received in advance, to the extent that the revenue that has been taxed and will not be taxable in future periods. Therefore, a deductible temporary difference of HK$100,000 is associated with the interest received in advance.
The purpose of this specific requirement on revenue received in advance is to match the recognition tax expense with the recognition of the revenue in the later period when the recognition of the deferred tax asset is reversed upon the “settlement” of the revenue received in advance.
(b)

Neither a taxable amount nor a deductible amount will be resulted in determining taxable profit (tax loss) of future periods when the interest received in advance is settled, that is, when it is recognised as interest revenue. Therefore, there is no temporary difference associated with the interest received in advance.
(c)

A taxable amount of HK$100,000 will be resulted in determining taxable profit (tax loss) of future periods when the interest received in advance is settled, that is, when it is recognised as interest revenue. Therefore, a taxable temporary difference of HK$100,000 is associated with the interest received in advance.
In accordance with HKAS 12, a deferred tax liability shall not be recognised for taxable temporary differences arises from the initial recognition of an asset or liability in a transaction which affects neither accounting profit nor taxable profit (tax loss) at the time of the transaction.
Since neither accounting profit nor taxable profit (tax loss) was affected by the initial recognition of the interest received in advance at the time when the interest was received, a deferred tax liability will not be recognised, even though there is a taxable temporary difference associated with the interest received in advance.
Answer 11

(a)

	
	Carrying amount
	Tax written down value
	Temporary differences

	
	$m
	$m
	$m

	At beginning of the year
	
	
	

	Cost
	100
	100
	

	Accumulated depreciation
	(15)
	(20)
	

	Net amount
	85
	80
	5

	During the year
	
	
	

	Depreciation charge
	(5)
	(10)
	5

	Revaluation
	70
	-
	70

	Net amount at balance sheet date
	150
	70
	80


The journal entries would be:

	
	Dr. ($)
	Cr. ($)

	Tax expense – deferred tax
	1,500,000
	

	Deferred tax liabilities
	
	1,500,000

	Being recognition of deferred tax liabilities arising from accelerated tax depreciation charge during the year.


	
	Dr. ($)
	Cr. ($)

	Property, plant and equipment revaluation reserve – deferred tax
	21,000,000
	

	Deferred tax liabilities
	
	21,000,000

	Being recognition of deferred tax liabilities arising from revaluation of the asset during the year.


(b)

If the carrying amount of the asset is expected to be recovered through sale, it is reasonable to assume that the proceeds receivable will be above its cost of HK$100,000,000, given that the revalued amount of the asset at 31 December 2006 was HK$150,000,000. It is therefore likely that the cumulative tax depreciation of $30,000,000 would be included in the taxable amount. In other words, on recovery of the carrying amount of HK$150,000,000 through sale, only HK$30,000,000 will be taxable and the remaining proceeds receivable will not be taxable. Therefore, at 31 December 2006, a taxable temporary difference of HK$30,000,000 was associated with the asset and a deferred tax liability of HK$9,000,000 should be recognised. Since a total of HK$3,000,000 (opening HK1,500,000 plus HK$1,500,000 for accelerated depreciation for the year) has already been recognised, the remaining balance of HK$6,000,000 should be recognised directly in equity as a result of the revaluation and decision to dispose of the asset.
	
	Dr. ($)
	Cr. ($)

	Property, plant and equipment revaluation reserve – deferred tax
	6,000,000
	

	Deferred tax liabilities
	
	6,000,000

	Being recognition of deferred tax liabilities arising from revaluation of the asset and the decision to dispose of the asset during the year.


(c)

Given that the carrying amount of the asset is expected to be recovered through use, the tax on the profit on disposal of the asset is not relevant. The accounting treatments should be the same as those in a).
(d)

Given that the carrying amount of the asset at 31 December 2006 was HK$150,000,000, it was inherent in the recognition of the revaluation surplus that the asset was expected to be sold at or above its revalued amount. It is therefore probable that the capital gain of HK$50,000,000 as well as the cumulative tax depreciation of HK$30,000,000 would be included in the taxable amount. In other words, on recovery of the carrying amount of HK$150,000,000 through sale, HK$50,000,000 will be taxed at 40% and HK$30,000,000 will be taxed at 30%. Therefore, at 31 December 2006, a taxable temporary difference of HK$80,000,000 was associated with the asset and a deferred tax liability of HK$29,000,000 (HK$50,000,000x40% + HK$30,000,000x30%) should be recognised. Since a total of HK$3,000,000 (opening HK$1,500,000 plus HK$1,500,000 for accelerated depreciation for the year) has already been recognised, the remaining balance of HK$26,000,000 should be recognised directly in equity as a result of the revaluation and decision to dispose of the asset.
	
	Dr. ($)
	Cr. ($)

	Property, plant and equipment revaluation reserve – deferred tax
	26,000,000
	

	Deferred tax liabilities
	
	26,000,000

	Being recognition of deferred tax liabilities arising from revaluation of the asset and the decision to dispose of the asset during the year.


Answer 12

The entity shall recognise a current tax liability and a current income tax expense of HK$500,000 (HK$1,000,000 at 50%). No asset is recognised for the amount potentially recoverable as a result of future dividends.
The entity shall also recognise a deferred tax liability and deferred tax expense of HK$200,000 (HK$400,000 at 50%) representing the income taxes that the entity will pay when it recovers or settles the carrying amounts of its assets and liabilities based on the tax rate applicable to undistributed profits.
In the subsequent year when the entity recognise the declared dividends of HK$100,000, the entity shall recognise the recovery of income taxes of HK$15,000 (15% of HK$100,000) as a current tax asset and as a reduction of current income tax expense for the year.
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